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Algebraic Fractions - Lesson 6

Adding and Subtracting Algebraic Fractions
(Difficult Types)

LI

e +, - difficult algebraic fractions.

SC

e Multiplying brackets.

e +, - numerical fractions.
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Example 2

x — 1 xz2 x + 10
_I_
3 x2 6

2(x - 1) x + 10
_I_
6 6

2x - 2 x + 10
_|_
6 6

2x -2 + x + 10
6

3x + 8
6
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Example 3

2X + 3x4 X -7 xb»
5 X 4 4 x 5

42x +3)  5(x -7)

20 20

4(2x + 3) - 5(x - 7)

20
_ 8x + 12 - Bx + 3b
20
_ 3x + 47
20
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Example 4
3x + 1 xx-3) X + 3 xx-1
X - 1 xx-3) X — 3 x(x-1)

Bx + )(x-3) (x+ 3)Kx-1)
(x - 1)(x - 3) (x - 1)(x - 3)

B3x + 1ND(x -3)-(x+ 3)x-1)
x - 1)(x - 3)

3x2-8x-3-(x%+ 2x - 3)
(x - 1Dx - 3)

3x°-8x-3-x°-2x+ 3
(x - D(x - 3)

2x°% - 10 x
(x - 1)(x - 3)
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1 Express each of the following as a single fraction in its simplest form.
. X K x—=2 x+1 x-3 2x-1 «x ¥—=3_ x=1
13776 b T3 © T3 7% ol
2x-2 x+1 ¢ Zx—1 x-—42 2x—1+x—3_2x—3
3 2 3 7 5 T3 7 6
2 Express each of the following as a single fraction in its simplest form.
a 2 b 4 + El g > + e
T ox+1 x x—2 x x—2 x+3
3 2 2 3 7 2
d i T« S P L oy R
x+1 3 h +1 x-1 x+3 1- 27
8 + - -
x—2 x-1 x+3 x+1 2x + 1 =1
3 Express each of the following as a single fraction in its simplest form.
. T 1 b 1 " 1 c 2 5
x2-16 x+4 3x2-3 x+1 x+2 2_x-6
x+1 3 4x+12 3 c 1 1
d 7] £y ] . . 7 - I 7] - T2 .
P-4 xT+3x+ 2 x*-9 x+3 X +x-12 X +3x-4
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Answers
3x—2 x—2 5-x
1 a 6 X(x+1) 16
3x-1 7x—6 Ix-2
b 8 b x{x—2) Ixi=1)
5x—4 : 2x=11
C 8x+9 - ol B S
12 C (x=2)(x+3) (x—3)ix+2)
Bx—21 2
d 15 d =52 L AIE=S
1—x2 (x"—4)(x+1)
e =7 +21
. Bx+1 Y
e - — - 2 _
f 5(x+1) (2x+1)(x=1) x°=9 i
12 2
f _ x+9 (x+4)(x=3)(x=1)
g 7x-7 (3x—T)(x+1)
12
x24+3x=7
S o T
x}—x+4
h (x+3)(x+1)
i 4x*+3x2-4
(2x+1)(x-1)
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